LONG MULTIPLICATION

3-DIGIT BY 1-DIGIT(WITHOUT REGROUPING)
WORKSHEET - 5

372 869 715 528

x5 x 7 x 8 x 2

10 63 40 16

+ 350 + 420 + 80 + 40
+ 1500 + 5600 + 5600 + 1000
= 1860 = 6083 = 5720 = 1056
822 960 297 205

x 6 x 3 x5 x 8

12 0 35 40

+ 120 + 180 + 450 + 0
+ 4800 + 2700 + 1000 + 1600
= 4932 = 2880 = 1485 = 1640
674 587 918 120

X 8 X 6 x 4 x5

32 42 32 0

+ 560 + 480 + 40 + 100
+ 4800 + 3000 + 3600 + 500
= 5392 = 3522 = 3672 = 600
555 785 763 282

x 3 x 8 x 6 x 4

15 40 18 8

+ 150 + 640 + 360 + 320
+ 1500 + 5600 + 4200 + 800
= 1665 = 6280 = 4578 = 1128
884 732 656 980

x 3 x 8 x 7 x 7

12 16 42 0

+ 240 + 240 + 350 + 560
+ 2400 + 5600 + 4200 + 6300
= 2652 = 5856 = 4592 = 6860
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